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	 $� ��+�����	 ��*

uEP = − l
μ

dγ

dz
@(�((A

+���� �	��� ��� 
�	�����	� �� 
 ��+ ����

� ����	��
�� ��� 
�
�

�������
 ��	��� �� �����%�	��
$# ��� ��
����

� ��$#� ��	���� l = κ−1 
	� γ �� ��� �	����

�
� ��	���	� ��$�	����	 ��������
��
� 
 ��%��
� �3�������	 ��� ��� ����
��# 

	 $� +�����	 ��� ����%���������� +���� ���
��
���	� 	�+ �� ��� �� ��� ��%���
���� ��
���	�*

uT = − lT
μ

dγ

dT

dT

dz
@(�(FA

+���� lT = (2κ)
−1� �	 ����� +����� ��� %����	 �� ��������� ���	 
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 �
�
	��	� �4�
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�
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�
����

�����# �������� 
�
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$�� ��� ��J���� ���� ����� 
�� ��� ���
�����	���
 H�+�� 5	� �� ���
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	 $� ���� �� ������ ����� %����� 

	 $� %���
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� �#	
%�
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��� $��������� ��	��� %����	��

��� �������� ��
���	� �	�����
�� ��� �����	�	� 
�	��	��% �J�
���	� �� �����
� �#��� �� H�+
��
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�� 
�%%�	�# ���� �� �	
��	����� +��	 ��
��	� +��� %�
��%���� �� 	
	�%���� �����
����
��� ������# ���
��	�� ��� �J�
���	� ����� ��� ��� ����
��#� ��������� ���
���
� 
	� ���
��%���
���� ������ 
	� %
# �� %
# 	�� $� 
������� 5� 
����� ����� 
�	��	��% �J�
���	�
	��� �� $� 	�%���

��# ������� 
	� ��� 
���
� �� %����� ���� �� ��� �	��� ���%�	� %�����
@I0�A� !������� H��� �#	
%�
� ��	� �� $� %
�	�# ������ +��� �	��� ����%� %�������
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��	� ���
�����# �
�# �	 I0��
��� ������# �� ��� �	��� ���%�	� %����� %
�	�# ��
��� �	 ��� ����# �� ����� %�
�
	�
� @����
����
���
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� �
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� ��� &9<)M�� ��� $
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 ���
 �� �� ���
������ ���

�	��	��% ���$��% �	�� 
 %��� %
�� ��� �� ���
���� ��$>��%
�	�� ��>

���� ���%�	��� ���
%��� 
�%%�	�# ���� �	��� ���%�	� %����� �� $
��� �	 ��� �����# �� =
�����	M� +�������
������
�� ! ����� �	�����
���	 �� ��� �����# �� ���� %����� �� ����	 �	 ��� 	�3� ��
���	�
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 %��� �������� �	�����
���	� ��� ��
��� �� �������� �� ��� �3
%��� KG(L �� K(&:L� !����
��� $
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 �����#� �� +��� $� ���+	 ��+ ��� �	��� ���%�	� %����� 

	 $� ���� �� 
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��� ��%���
���� ���� 
	� ���
���
 ������ ��� 
�%���
���	 �� ��� H�+ @����
��# ���� 
	�
��������A 	���� ��%� %��� 
���	���	 
	� +��� $� ���
����� �
���

����� %�����
����� & #$����

��� @=
�����	A �	��� ���%�	� %����� $
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��# 
�	���� �� �+� ���
�
�� ������ I���� ���
$��	�
�# �
��� ���$��% �� ��4���	��
� �J�
���	 �� ��+�����	 @���% ��� ����	� ���%A �� ���
+�
� ���%� �� �
��
���	
� ���%� +��
� �	 %��� 
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	 $� ��	� $# �
	� �	���
� �� 
�%������
��� ��
�	� ���� �	������ ��� ���
�����
���	� +���� ��� +�
� ���% �� ��$������� �	�� ���%�	���
1�+����� �� ���	� ��� +�
� ���% �� ��� $��	�
�# �
��� ���$��%� �+� 
����
���	� �� ��	
���	�
	��� �� $� ���	�� ����Q ��� 
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 �� �����
�
� �	
�
��
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	� ��� 
���� �� ���������� ���	
��
��
�� �3��
�	 ���� ������� �� �� 	�
���
�# �� ���	� 
 ��	��
� 
�%���
���	
� ��%
�	 Ω +����
�
�� �� ��� $��	�
�#� ΓD� �� ���
���� +��� ����
���� $��	�
�# 
�	�����	�� 
	� +���� ���
����� �
�� �� ��� $��	�
�#� ΓN � �� ���
���� +��� ,��%
		 $��	�
�# 
�	�����	�� 7���
��� +������	� ��	
���	� 
	� ���
� �������	� 
�� ��	��
� ��	
���	� +��
� 
�� @
� ��
��A �J�
��
�	����
$�� 
	� �
�� �J�
�� �	����
$�� ���� �����
����� ���� ��� 
�%���
���	
� ��%
�	 Ω�
1�+����� ��� +������	� ��	
���	�� ����
���� 	���� 
� w� �
	��� �	 ��� ����
���� �
�� �� ���
$��	�
�#� ΓD� +���� ��� ���
� �������	� 
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��# �
����# ��� $��	�
�# 
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� ��� �
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$�� ��
� 	���� �� $� ������ �� �������# 
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��# �
����# ��� ����
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�	�����	� 1�+����� ��� �
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��� $� ��	� ��� ��� ,��%
		 $��	�
�# 
�	�����	� +��
� �� $��� ���+	 +��� 
	 �3
%����
I�� ���� �3
%���� 
�	����� ��� ������	 �J�
���	 +��
� �� ������ ��� ��� 
�%���
���	
� ��%
�	
Ω �	�����
�� 
$���*

−∇2ϕ = f �	 Ω

ϕ = ϕD �	 ΓD

�n · ∇ϕ = ϕN �	 ΓN

@(�(<A

1��� f �� 
 ����
� ���%� ϕD �� ��� �
��� �� ϕ �	 ��� ����
���� $��	�
�#� +���� ��� ϕN ��
��� �
��� �� ϕ �	 ,��%
		 $��	�
�#� +���� �n �� ��� ���+
�� 	��%
� �� ���� $��	�
�#�
��� ���%��
���	 �� ��� +�
� ���% �� ��� $��	�
�# �
��� ���$��% 

	 $� 

������ $# ����
%������#�	� ��� ��4���	��
� �J�
���	 $# ��� +������	� ��	
���	 w 
	� ���	 �	����
��	� ����
��� ��%
�	 Ω +��
� ������� �	*

−
ˆ
Ω

w∇2ϕdΩ =

ˆ
Ω

wfdΩ @(�(GA

��� 	�3� ���	� �� �� �� �� �3�
	� ��� ���� ���% $# ���	� ��%� ��
��� ���	������ 
	� $#

���#�	� ��� �������	
� ������% �� ��
	����% 
 ����%� �	����
� �� 
 ����

� �	����
�� +��
�
������� �	*

−
ˆ
Ω

w∇2ϕdΩ = −
ˆ
Ω

(∇ · (w∇ϕ) −∇w · ∇ϕ) dΩ =

ˆ
Ω

∇w · ∇ϕdΩ−
ˆ
Γ

w (�n · ∇ϕ) dΓ
@(�('A
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�	� ��� ,��%
		
$��	�
�# 
�	�����	 ���	�� $������ ��� +������	� ��	
���	� w� �� ��� ���	����	 ���� 
� ���
����
���� $��	�
�#� +��
� ������� ��
� ��� ����

� �	����
� �� �	�# ���� ��� ,��%
		 �
�� ��
��� $��	�
�#�  �	��J��	��# ���� %�
	� ��
� ��� ,��%
		 $��	�
�# 
�	�����	 �� �	
�����
	
���
��#� ��� ���
� �J�
���	 �	 +�
� ���% ���	 $�
�%��*ˆ

Ω

∇w · ∇ϕdΩ =

ˆ
Ω

wfdΩ +

ˆ
ΓN

wϕNdΓ @(�(:A
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	 $� +�����	 
�*

ϕh (�x) =
∑

Aελ\λD

NA (�x)ϕA +
∑
AελD

NA (�x)ϕD (�xA) @(�(;A
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 ���$
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+�
� ���%*∑
Aελ\λD

ϕA

ˆ
Ω

∇NB ·∇NAdΩ =

ˆ
Ω

NBfdΩ+

ˆ
ΓN

NBϕNdΓ−
∑
AελD

ϕD (�xA)

ˆ
Ω

∇NB ·∇NAdΩ

@(�(9A
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����
���
� ���%�	� +��� ��� ������ 	��� 	�%$��� 
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�	����
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��	��
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� �J�
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+��� 	��%
����� ��

� 
�����	
��� (ξ, η) ∈ [−1, 1] × [−1, 1]� ��� ��
�� ��	
���	 �� ���
J�
����
���
� �	 ��

� 
�����	
��� ��%��# �� ���	�� $#*

N1 =
1

4
(1− ξ) (1− η) @(�F)A

N2 =
1

4
(1 + ξ) (1− η) @(�F&A

N3 =
1

4
(1 + ξ) (1 + η) @(�F(A

N4 =
1

4
(1− ξ) (1 + η) @(�FFA

.���� ��� �
��� �� ��� �
��
$�� ϕ 

	 	�+ $� ��
��
��� @�	������
���A 
	#+���� �	���� ���
%
���� J�
����
���
� ���%�	� ���	� ��� 	���� $#*

ϕh (ξ, η) =

4∑
a=1

Na (ξ, η)ϕa @(�F<A
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�
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 �� +��
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���
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	 �3
%���� ��� 
�����	
��
��
	����%
���	 �� ���	 ���	�� 
�*{

x
y

}
=

4∑
a=1

Na (ξ, η)

{
xa
ya

}
@(�FGA

+���� a ���	� ��� ��

� 	���� �� ��� ���%�	�� ��� ���
���� +�
� ���% 	�� �	�# ���� ���
��
�� ��	
���	� N � $�� 
��� ��� �����
����� +��� �����
� �� ��� ���$
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�����	
��� (x, y)�
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N1 = 1
4 (ξ − 1) (η − 1) ξη

N2 = 1
4 (ξ + 1) (η − 1) ξη

N3 = 1
4 (ξ + 1) (η + 1) ξη

N4 = 1
4 (ξ − 1) (η + 1) ξη

N5 = − 1
2

(
ξ2 − 1

)
η (η − 1)

N6 = − 1
2ξ (ξ + 1)

(
η2 − 1

)
N7 = − 1

2

(
ξ2 − 1

)
η (η + 1)

N8 = − 1
2ξ (ξ − 1)

(
η2 − 1

)
N9 =

(
ξ2 − 1

) (
η2 − 1

)
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	� ��� ��
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�
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���
� ��4���	��
���	� ���� ������� �	*[ ∂
∂x
∂
∂y

]
= J−1

[
∂
∂ξ
∂
∂η

]
@(�F'A
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���� +�
� ���% 
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	 $� ��	� +��� ��� �����%�	
	� �� J � detJ 
� �����+�*ˆ ˆ

dxdy =

ˆ ˆ
|detJ | dξdη @(�F:A
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f (ξ, η) dξdη =

n∑
j=1

wjf (ξj , ηj) @(�F;A
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[
−√1/3,

√
1/3
]
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[
−√3/5, 0,

√
3/5
]
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φA

ˆ
Ω

∇NB ·∇NAdΩ =

ˆ
ΓN

NB (�n · ∇φ) dΓ−
∑
AελD

φD (�xA)

ˆ
Ω

∇NB ·∇NAdΩ @(�<)A
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Kφ = f @(�<&A
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MEx = Gxφ @(�<FA
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MEy = Gyφ @(�<<A
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for each atom i (1 to N)
{
    for each atom j except i
    {
        rij = distance between atom i and j
        if (rij < cuttoff radius)
        {
            compute interparticle force
            assign force from atom j to atom i
        }
    }
}

       if (rij < cuttoff radius)
       {

       }
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just after updating list after several time steps list is invalid
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U (r) =
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erfc (α |�rij + �mL|)
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U (k) =
1

2
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U (s) = − α√
π
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i

q2i 
	� U
(d) =

2π

(1 + 2ε∞)V

(
N∑
i

qi�ri

)2
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(
�k
)
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ˆ
V

ρ (�r) exp
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−ı�k · �r

)
d�r =

N∑
j=1

qj exp
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−ı�k · �rj
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1. MD system of
charged atoms

2. charges mapped
onto a mesh

3. applying FFT, 
potential on mesh

4. results mapped
back to atoms
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ρM (�xp) =
1
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N∑
i=1

qiW (�xp − �ri) @(�':A
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1
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)
1
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1
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)
1
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1
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)
1
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(
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)
=
D̃
(
�k
)
·∑
mεZ3 Ũ2

(
�k + 2π

h �m
)
R̃
(
�k + 2π

h �m
)

∣∣∣D̃ (�k)∣∣∣2 [∑
mεZ3 Ũ2
(
�k + 2π

h �m
)] @(�'9A
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Ũ
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(
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)
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(
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3.166 3.166 3.15061 3.15365 3.16435 3.1589 3.12
q1 (e) +0.410 +0.4238 +0.4170 +0.5200 +0.52422 +0.5564 +0.2410
q2 (e) −0.820 −0.8476 −0.8340 −1.0400 −1.04844 −1.1128 −0.2410
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1.0000 1.0000 0.9572 0.9572 0.9572 0.9572 0.9572
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� � � 0.15 0.125 0.1546 0.70
θ (o) 109.47 109.47 104.52 104.52 104.52 104.52 104.52
ϕ (o) � � � 52.26 52.26 52.26 109.47
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��� ������$����	 ������ @$����%A �$�
�	�� ���
��� 	
	� 
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		�� ���% ��� �J����$���% �� ��%��
���	 @ρinit = 998.2 kg/m3� Tinit = 293 ��
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	�
�
	>
	�� @���	� ���<�8())GA� !	 �������
���	 �� ��� ��

���	 �� ��� ����
��# ������ ���� ��� ���

���� �� �� ����	�

�
$�� (�;* ��� �
��� �� ���
����# �� ��� ���� +
��� %����� 
� �$�
�	�� ���% ��� �����
����
��# ������� ��� �3����%�	�
� �
���� 
�� ����	 ��� ������	
��

/� 80 ���<� ���<�80+ ���<�8())G 03����%�	�
�@�A μ(%�
�) μ(%�
�) μ(%�
�) μ(%�
�) μ(%�
�)
(:F 1.282± 0.0940 0.668± 0.0515 1.601± 0.1459 1.697± 0.1259 1.778
(:: 1.073± 0.0556 0.698± 0.0232 1.196± 0.0776 1.506± 0.1125 1.572
(;F 0.879± 0.0356 0.605± 0.0179 1.057± 0.0947 1.114± 0.0629 1.303
(9F 0.795± 0.0473 0.544± 0.0143 0.744± 0.0261 0.928± 0.0341 1.004
F)F 0.663± 0.0239 0.479± 0.0146 0.705± 0.0249 0.817± 0.0476 0.802
F&F 0.519± 0.0134 0.402± 0.0089 0.538± 0.0148 0.586± 0.0280 0.658
F(F 0.424± 0.0154 0.325± 0.0125 0.483± 0.0240 0.557± 0.0248 0.551
F<F 0.370± 0.0193 0.285± 0.0135 0.384± 0.0218 0.408± 0.0152 0.407
F'F 0.301± 0.0097 0.280± 0.0159 0.270± 0.0110 0.320± 0.0135 0.315
F:F 0.271± 0.0068 0.251± 0.0128 0.264± 0.0110 0.291± 0.0120 0.281
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��� �����
#��� ��� ��	�� �	 ��� ����� 
�� �$�
�	�� ���% 
 �� �� ��� �#��* μ = (T − T0)−b�
+���� ��� �� +��� �3����%�	�
� �
�
 ���% 7��� �� 
�� K()L �� ���� ��� ������	
��

�
$�� (�9* ��� �
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�
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���	�� 
� ���+	 �	 ����� (�<)�

03����%�	� ���<�8())G ���<�80+ /� 80 ���<�
To 225.4 224.0 224.5 212.4 173.6
b 1.637 1.642 1.677 1.633 1.578
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1 0.0833 8.89 · 10−1 0.3333 6.67 · 10−1

2 0.2500 6.67 · 10−1 0.5000 5.00 · 10−1

3 0.3750 5.00 · 10−1 0.6250 3.75 · 10−1

4 0.4688 3.75 · 10−1 0.7188 2.81 · 10−1

5 0.5390 2.81 · 10−1 0.7891 2.11 · 10−1

10 0.7000 6.67 · 10−2 0.9500 5.01 · 10−2

20 0.7473 3.76 · 10−3 0.9973 2.82 · 10−3

30 0.7498 2.12 · 10−4 0.9998 1.59 · 10−4

40 0.7500 1.19 · 10−5 1.0000 8.94 · 10−6
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